SIDE BENCH BLOCK 30 x 40 mm, GLUED AND SCREWED
TO THE BULKHEAD WITH FOUR 4 x 30 SCREWS

F FORWARD DECK BEAM, G CUTOUT ON THE LOWER MEDIUM_SIZE CAM CLEAT S—HOOK FOR THE =
THREE LAYERS OF 14 x 30 mm FACE OF BEAMS AT BOTH FOR THE MAINSHEET EDGE PAD, 6 mm PLYWOOD CENTERBOARD UPHAUL
GLUED OVER A MOULD ENDS OF THE BEARER TURNING BLOCK
BEFORE FASTENING CLEAT BLOCK 20 x 40 x 150 mm, SMALL SIZE V-CLEAT FOR
AFT_SEAT BEARER GLUED AND NAILED THE _CENTREBOARD UPHAUL
m 30 x 40 mm ON STARBOARD SIDE
.l
—
=0 v
T SE=— 5] 7/
550 ] 200 j 60
T L !!JJ | v n
% ~ i
S
@[} b oo J #
BUOYANCY TANK 150 |
INSPECTION HATCH,
OPENING DIA. 100 mm
150 2450 | |
41
E KEELSON 30 x 40 mm, GLUED AND 0 o
SCREWED TO THE BOTTOM WITH .10 2
4 x 30 mm SCREWS SPACED 75 mm |
O T T~ —1
\ , CASE_SPACER 30 x 40 mm
| STEM,
CASE RAIL TWO LAYERS OF 25 mm,
30 x 40 mm = GLUED AND SCREWED
AFT_SIDE_BENCH, FACH PANEL GLUED OVER A MOULD OF THREE LAYERS OF EOXP%NmG chlggws
25 x 25 mm, FASTENED AFTER PAINTING THE HULL WITH SCREWS ONLY gm(E;Eg gﬁnr%rg AT CT\'TNE
mm
BENCH SPACER 25 x 25 mm, SIDES. THEN TAPED
FORWARD SIDE BENCH, FACH PANEL GLUED OVER ,
GLOED. A0, DOWELLED 7O, EERS 25 A MOULD OF THREE LAYERS STRAIGHT TAPERED OUTSIDE ONLY WITH RESIN
INNER GUNWALE 20 x 40 mm DOWELS i i FROM 25 x 25 mm TO 15 x 25 mm AND MAT
CASE LOG 30 x 40 mm, OUTER GUNWALE 20 x 40 mm, ’= s | 500 450
GLUED AND SCREWED TO GLUED AND NAILED N —
THE BOTTOM WITH 4 x 30 mm WITH 1.6 x 35 mm NAILS _ -
SCREWS SPACED 75 mm SPACED 150 mm
5 x 50 mm 1 N
GUNWALE RUBBING STRIP SCREWS 5
18 x 40 mm, HARDWOOD, — ————
D FASTENED AFTER PAINTING - o] o
THE HULL WITH ONLY 5 x 40 mm | — ] N
20 SCREWS SPACED 300 mm N N N
‘ CUTOUT ON THE RAIL 2l g 2T ©
SN e U7 [T [TT1I[T11 5 x 35 mm 500 — 500 — 500 — 500 36
’ T
\ 3| / SCREW
CLEAT, LENGTH 150 mm, FOR MOORING
AND FOR_HOOKING A ROPE_LOOP TIED
TO THE MAINSHEET BLOCK -
PAD UNDERSIDE THE SEAT, B = C F
FROM 200 mm 10 235 mm 3 o
. 350 -
PAD_UPPERSIDE THE 350
SEAT, 6 mm PLYWOOD,
DIAMETER 160 mm, ]
GLUED AND SCREWED ©
WITH TWO 5 x 35 mm I 1 <
SCREWS = _ T
MEDIUM_SIZE CAM S — | — 1]
CLEAT FOR THE w % il
MIZZEN SHEET i | - o
— ] N
350 . 1170 ] a w v i [
66 — 50 4l
\ N 50 [ ™~
SIDE_BENCH BLOCK ZI W=l 1% S
AFT_SEAT BEARER
20 X 40 mm TEMPORARY _
© FRAME_SPREADER 40 x50 mm 75 (83) THWART BEAMS CENSTR 705 e —+-S50_mim.
~ SIDE_BENCH KNEE C CLAMPED TO KNEES 30 x 40 _mm
& 10 mm PLYWOOD AFT SEAT BEAM, 350 .
2 THREE_LAYERS OF 10 x 40 mm
P o 0| o GLUED OVER A MOULD o
L0 o O o
~ NS
5 x 70 mm_SCREWS =
STAGGERED TO MISS 5 70 mm
L ECH OTHER 1 ” 2L
il ik = —1
I_/, - — _/Q — ~ [
BUTT_STRIP, 100 (111 _FOR THE MOULD 370
6 mm PLYWOOD, WITH REGARD TO SPRINGBACK) 1100
WIDTH 100" mm NON—SLIP SURFACE STIPPLED DOWN WITH A BRUSH
SEAL CLEAT 20 x 0 rom T0 THE LAYER OF EPOXY OR POLYESIER FILLER MOORING CLEAT, LENGTH 150 mm
BUOYANCY TANK A B BOLTED WITH T—NUTS PLACED
TesA AR UNDERSIDE BEFORE SETTING UP
OPENING DIA. 100 mm THE DECK
PAD UPPERSIDE_THE DECK, 6 mm PLYWOOD
T »f—> % 40 mm SCREW - DIAMETER 180 mm, GLUED AND SCREWED WITH
/ ALL SIDE FRAMES I FOUR 5 x 35 mm SCREWS
4 20 x 40 mm STRIP_UNDERSIDE THE DECK, 10 mm PLYWOOD,
WIDTH TAPERED FROM 130 mm TO 30 mm
4 x 30 mm —
SCREW
/ [

CLEAT BLOCK 20 x 40 x 150 mm,
GLUED AND SCREWED WITH
THREE 5 x 40 mm SCREWS

MOTOR BOARD, TWO LAYERS OF 10 mm PLYWOOD, GLUED
AND NAILED ALONG ITS UPPER AND LOWER EDGE WITH
1.2 x 20 mm NAILS SPACED 50 mm, THEN FASTENED TO
SIDES WITH FOUR 4 x 30 mm SCREWS EACH SIDE

g x 70 MM )

SCREW

150

\ a5
S
2

O

\

\MOTOR BOARD BEAM 20 x 40 mm,
_ GLUED AND NAILED WITH

1.6 x 35 mm NAILS SPACED

100 mm

i ——

COPYRIGHT © RADOSLAW WERSZKO. ALL RIGHTS RESERVED

150

GUDGEON PAD,
6 mm_ PLYWOOD GLUED
TO THE TRANSOM

ALL OTHER PLYWOOD TO TIMBER JOINTS GLUED
AND NAILED WITH 1.2 x 20 mm NAILS SPACED 50 mm

ALL NAILS OF BRASS. ALL SCREWS OF BRASS
OR STAINLESS STEEL

ALL PLYWOOD TO PLYWOOD JOINTS WITHOUT TIMBER,
FIRST STITCHED WITH 1-1.5 mm COPPER WIRE, THEN
TAPED BOTH SIDES WITH EPOXY OR POLYESTER RESIN
AND ONE LAYER OF CHOPPED STRAND MAT EACH SIDE.
MAT WEIGHT 450 g/m2. MAT STRIPS WIDTH 100 mm

AFT SEAT AND THWART TAPED TO THE PLANKING
UNDERSIDE ONLY

O

HULL CONSTRUCTION
SHEET 50.3/5, SIZE Af
SCALE 1:5, 1:10

RADOSLAW WERSZKO
APRIL 2009




	Page 1

